[bookmark: _GoBack]ВАРИАНТ 1
Ф.И.О.____________________________________________________
P1=0,9558          P2=0,9742                          P3=0,9611
P4=0,9439             P5=0,98111
3
2
4
5



PC=__________



ВАРИАНТ 2
Ф.И.О.____________________________________________________
P1=0,9458            P2=0,9582                          P3=0,9588
P4=0,9479              P5=0,97161
3
2
4
5



PC=__________



ВАРИАНТ 3
Ф.И.О.____________________________________________________
P1=0,9658         P2=0,9342                          P3=0,9371
P4=0,9739           P5=0,95513
2
1
4
5



PC=__________



ВАРИАНТ 4
Ф.И.О.____________________________________________________
P1=0,9358          P2=0,9332                          P3=0,9551
P4=0,9739          P5=0,96111
3
2
4
5



PC=__________



ВАРИАНТ 5
Ф.И.О.____________________________________________________
P1=0,9458             P2=0,9549                          P3=0,9668
P4=0,9478             P5=0,9715
1
3
2
4
5


PC=__________



ВАРИАНТ 6
Ф.И.О.____________________________________________________
P1=0,9558             P2=0,9349                          P3=0,9778
P4=0,9878               P5=0,9515
1
5
3
4
2


PC=__________



ВАРИАНТ 7
Ф.И.О.____________________________________________________
P1=0,9638                P2=0,9949                          P3=0,9338
P4=0,9878                    P5=0,94151
3
2
4
5



PC=__________



ВАРИАНТ 8
Ф.И.О.____________________________________________________
P1=0,9738                P2=0,9959                          P3=0,9638
P4=0,9778                P5=0,9515                         P6=0,97154
1
3
5
2
6



PC=__________



ВАРИАНТ 9
Ф.И.О.____________________________________________________
P1=0,9938              P2=0,9859                          P3=0,9678
P4=0,9748               P5=0,9565                         P6=0,97354
1
3
5
2
6




PC=__________


ВАРИАНТ 10
Ф.И.О.____________________________________________________
P1=0,9938              P2=0,9859                          P3=0,9678
P4=0,9748                  P5=0,9565                         P6=0,97356
5
4
2
3
1



PC=__________
PC=__________


ВАРИАНТ 11
Ф.И.О.____________________________________________________
P1=0,9978                P2=0,9659                          P3=0,9788
P4=0,9848                P5=0,9895                         P6=0,96554
2
3
6
1
5










ВАРИАНТ 12
Ф.И.О.____________________________________________________
P1=0,9958                P2=0,9762                          P3=0,9711
P4=0,9839                 P5=0,98511
3
2
4
5


PC=__________

ВАРИАНТ 13
Ф.И.О.____________________________________________________
P1=0,9858               P2=0,9782                          P3=0,9548
P4=0,9679                 P5=0,98161
3
2
4
5



PC=__________



ВАРИАНТ 14
Ф.И.О.____________________________________________________
P1=0,9658                  P2=0,9742                          P3=0,9471
P4=0,9789                  P5=0,96513
2
1
4
5



PC=__________


ВАРИАНТ 15
Ф.И.О.____________________________________________________
P1=0,9438                P2=0,9462                          P3=0,9745
P4=0,9859                  P5=0,9771
1
3
2
4
5



PC=__________



ВАРИАНТ 16
Ф.И.О.____________________________________________________
P1=0,9788            P2=0,9649                          P3=0,9928
P4=0,9598              P5=0,98751
3
2
4
5

























ВАРИАНТ 21
Ф.И.О.____________________________________________________
P1=0,9558          P2=0,9742                          P3=0,9611
P4=0,9439             P5=0,98111
3
2
4
5



PC=__________



ВАРИАНТ 22
Ф.И.О.____________________________________________________
P1=0,9458            P2=0,9582                          P3=0,9588
P4=0,9479              P5=0,97161
3
2
4
5



PC=__________



ВАРИАНТ 23
Ф.И.О.____________________________________________________
P1=0,9658         P2=0,9342                          P3=0,9371
P4=0,9739           P5=0,95513
2
1
4
5



PC=__________



ВАРИАНТ 24
Ф.И.О.____________________________________________________
P1=0,9358          P2=0,9332                          P3=0,9551
P4=0,9739          P5=0,96111
3
2
4
5



PC=__________



ВАРИАНТ 25
Ф.И.О.____________________________________________________
P1=0,9458             P2=0,9549                          P3=0,9668
P4=0,9478             P5=0,9715
1
3
2
4
5


PC=__________



ВАРИАНТ 26
Ф.И.О.____________________________________________________
P1=0,9558             P2=0,9349                          P3=0,9778
P4=0,9878               P5=0,9515
1
5
3
4
2


PC=__________



ОТВЕТЫ
1, 21 –0,9514119
2, 22 – 0,9427741
3, 23 – 0,9338955
4, 24 – 0,9987923
5, 25 – 0,9159483
6, 26 – 0,9954721
7 – 0,9617926
8 – 0,90016047
9 – 0,99264304
10 – 0,967200179
11 – 0,999999999
12 – 0,994093378
13 – 0,98424695
14 – 0,94556749
15 – 0,99960003
16 – 0,96605079
